



Navn: _____

Dato: _____ Score: _____

$$\left(-\frac{1}{4}\right)^3 - \frac{1}{6} =$$

$$\left(-\frac{1}{3}\right) + \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{2}\right)^2 - \frac{3}{4} =$$

$$\left(\frac{1}{2}\right)^3 - \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{3}{4}\right)^2 + \frac{1}{2} =$$

$$\left(\frac{1}{6}\right)^3 + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{2}\right) + \frac{1}{5} =$$

$$\left(\frac{3}{4}\right) - \frac{1}{4} =$$

$$\left(\frac{2}{5}\right)^3 - \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{1}{6}\right) + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{3}{4}\right)^2 + \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{3}{5}\right)^2 - \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{3}\right)^2 - \frac{1}{4} =$$

$$\left(\frac{1}{2}\right)^3 - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{4}\right) - \frac{3}{4} =$$

$$\left(-\frac{1}{5}\right)^2 - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{2}\right)^2 + \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{6}\right)^3 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{6}\right)^3 - \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{2}{5}\right)^3 + \frac{3}{5} =$$



Navn: _____

Dato: _____ Score: _____

$$\left(-\frac{1}{4}\right)^3 - \frac{1}{6} = \left(-\frac{35}{192}\right)$$

$$\left(-\frac{1}{3}\right) + \left(-\frac{2}{5}\right) = \left(-\frac{11}{15}\right)$$

$$\left(-\frac{1}{2}\right)^2 - \frac{3}{4} = \left(-\frac{1}{2}\right)$$

$$\left(\frac{1}{2}\right)^3 - \left(-\frac{1}{4}\right) = \frac{3}{8}$$

$$\left(-\frac{3}{4}\right)^2 + \frac{1}{2} = \frac{17}{16} = 1\frac{1}{16}$$

$$\left(\frac{1}{6}\right)^3 + \left(-\frac{2}{5}\right) = \left(-\frac{427}{1080}\right)$$

$$\left(\frac{1}{2}\right) + \frac{1}{5} = \frac{7}{10}$$

$$\left(\frac{3}{4}\right) - \frac{1}{4} = \frac{1}{2}$$

$$\left(\frac{2}{5}\right)^3 - \left(-\frac{1}{4}\right) = \frac{157}{500}$$

$$\left(-\frac{1}{6}\right) + \left(-\frac{2}{5}\right) = \left(-\frac{17}{30}\right)$$

$$\left(\frac{3}{4}\right)^2 + \left(-\frac{1}{6}\right) = \frac{19}{48}$$

$$\left(-\frac{3}{5}\right)^2 - \left(-\frac{1}{6}\right) = \frac{79}{150}$$

$$\left(-\frac{1}{3}\right)^2 - \frac{1}{4} = \left(-\frac{5}{36}\right)$$

$$\left(\frac{1}{2}\right)^3 - \left(-\frac{2}{5}\right) = \frac{21}{40}$$

$$\left(\frac{1}{4}\right) - \frac{3}{4} = \left(-\frac{1}{2}\right)$$

$$\left(-\frac{1}{5}\right)^2 - \left(-\frac{2}{5}\right) = \frac{11}{25}$$

$$\left(\frac{1}{2}\right)^2 + \left(-\frac{1}{6}\right) = \frac{1}{12}$$

$$\left(\frac{1}{6}\right)^3 + \left(-\frac{1}{2}\right) = \left(-\frac{107}{216}\right)$$

$$\left(\frac{1}{6}\right)^3 - \left(-\frac{1}{3}\right) = \frac{73}{216}$$

$$\left(-\frac{2}{5}\right)^3 + \frac{3}{5} = \frac{67}{125}$$